Chapter 7 Review Name:

All answers must be justified with work. No work, no credit!

1. Estimate the period of the following periodic function.
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2. Suppose f(a)=2bh and f(2a)=>5b. Whatis f(4a) if f is periodic with period 2a?
Your answer will have b in it.
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3. An animal population in a national park dropped from a high of 232,000 in 1943 to a low
of 89,000 in 1989, and has risen since then. Scientists hypothesize that the population
follows a sinusoidal cycle affected by predation and other environmental conditions, and
that the caribou will again reach their previous high. Predict the next year when the

population will again be 232,000. /G55 189§
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4. Suppose the table below is for a periodic function f with period 3:
X 0 1 2 3 oy Fs JFi
£(x) 3 6 10 3 s @ /0
Evaluate £(86). gi22=28% / /p?d% ) = 0 /
FIx28=%% —

5. If the x-value for the point on the unit circle with angle o is 0.31, find cos« and sine .
Round your answers to three decimal places, if necessary.
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6. In the following figure, the circle shown is the unit circle. What is the horizontal distance
from Q to the y—axis? Round to 2 decimal places.
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8. In the following figure, the coordinates of P are (0.39, 0.92). The angle ¢ =
Round to the nearest whole number.

1
Y p {‘39/'?%) X =CoS&
. 3G7cos &
@ = cos '(:33)
O = L7 oY L
b L0 P £&7°
\ b= 12it87
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9. Ifangle « lies in Quadrant III, name the quadrant in which the following angles lie :

NSO e S 5 '\\
B) 270 —a *

C) 720" + o IIL

D) -180 +a L

10. The midline of the periodic function y =2cos(3x) -4 isy =
A".//,‘,(utﬁ = Z

11. What is the amplitude of the periodic function ) =2cos(2x)—-87

[Fprie 2]

12. Find an angle & between 0" and 180 such that cosar =sinl50".
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& :Cos’(ﬁ) =/60
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13. The midline of the periodic function shown below isy=_ /
34

14. The coordinates of the point on a circle of radius 3.5 at the angle 330" are ( 323/ , /.15
). Round each coordinate to 3 decimal places.

%= fcos® J:‘f%iu@ i
c 3.6¢os 330° = 2.55in 330

X=3.03| yr-11§

15. Is the period of cos(x/2) greater than, less than, or the same as the period of tan(x/2)?
A) the same
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16. Without a calculator, find the exact value of tan225 . If it is undefined, enter
"undefined".
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tom 225 7 T At 225 = Lan (‘fs‘ﬂ.vc))
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17. Find the exact value of the following without a calculator. If it is undefined, enter

"undefined".
5 - (Jj z
A) tan270 e 270°= & b
B) ta112257=[a - l L.
u.«ieﬁ‘-‘ned 0 = 3
C) tan30° [’—'—”_ o =
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18. Find the following exactly using the figure givenif ¢ =2 and b=2.

19. Two ships start at the same port. Ship A travels due east at 12 mph. Ship B travels due

north. After 3 hours, the ships are 60.00 miles apart. How fast was ship B traveling?
Round your answer to the nearest whole number.

2
3tex =GO
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20. If @=8 and h =2, find the following. Give your answers to 3 decimal places.
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21. Evaluate the following. Give answers to 4 decimal places.
A) cos™'x, x=058 CoSJ(-f”) = 5‘%{%}-’.(0
gl e -1 7 N
B) (sinx)", x=40 é“n 400) d B L5557
C) tanx, x=350
Lan fa”:{/. 1918
22. Solve for &, an angle in a right triangle, if 5cos(26)+6=2cos(26}+7. Give the answer
correct to 3 decimal places. 3cos(20)t6 = 7
2cof (-29) =/
Cos (20) * _'3'f
~ty L
20 =cos”'(%
23. A 68 inch tall man casts a 104 inch long shadow. What is the angle &of the sun? Give
your answer to 3 decimal places.
ér
é 6, =2 —
93 -". IO "I b 3
o = tan""( T

ot in (8= 33.179_



24.

25,

26.

Solve for &, an angle in a right triangle, if cos(36—14)+6=7. Round your answer to 3
decimal places. cos(ze-1y)= |
20-14= cos (1)
3e-14= O

35 = |4
!e =4 667 l

Use the figure below to find the missing side, ¢, whena=7,5=6,and C=39 . Round
to 4 decimal places.

C -a ,f[, —vzaﬁCaSC
7:‘?'6 —;{7}(‘)@537
c 2= /970773724

Two ships leave port and head out to sea in straight lines at 1pm. It is noted that they are

travelling away from each other at an angle of 40 . Ship A travels at 16 miles per hour
and Ship B travels at 18 miles per hour. After how many hours are they 91 miles apart?

= s‘/-o
A=rt r 9/ (3&) +/rce) z(:u)(mt)co e
’ g fiim §2%/ = 324¢€ PP PP A ¢ A A< L

L’W" g28/ = §¥ot 256t oS 40
matl o ¥23/ = sg02 - 441 2¢/5"?-?z{:

{ = /33. 753%0?—&
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27. In the following figure, suppose ¢ = 1.5, 6=2.5,and C =22 . Find 4, and round your
answer to two decimal places. If there are two possible answers, list both.

sin28° , sin B
5E a.s .
/5.5‘»37 2.5 S‘a:“la"}

S”nﬁg ‘2__5’__2?:-1——-"-6
/.S

2o 5 Sin 22 )
Bege ™ T
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8= gy. ¢34 °

& ‘ ¥4 s /xssebfe ?
3 /4. % as i 366*‘2"-”0

2]
A, = /30 -22-3%.63¥ °= J1937

A = /?a—zz_"/‘y/ ?d‘ /4, 630;
2 =

28. Find the angles of the triangle if @ = 5, 5 = 7 and ¢ = 4. Round to two decimal places.
pregtect-2ac Cos &
. - 2f)(v)cos B
4§ = 25+l - HocossS
4q = 4 - Yocos s
g =- o cos /3

"'!- "Cosg

,g aas(/S'

A = rol- 539857
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